
入試問題対策演習：早稲田大学政経学部 自由英作文問題 2013  

◆ 自由英作文問題の解法（注意点）  

① 見たことがない英語を書かない。確実に覚えている構文・語彙を使い「易しい英語」で書く！ 

② 書く前に「論理的な全体図・設計図」をしっかり作る！ 

③ Opinion の根拠となる部分には可能な限り Fact を用いる。 

 （例） I think we should abolish nuclear power plants. 

  （×）That’s because they are very dangerous. 【Opinion】 

      （○）That’s because they can cause tremendous damage to the environment if an accident 

            occurs. 【Fact】 

④ 第一文（Opinion）と最終文（Conclusion）では、内容の不一致に注意する！ 

 （例） I think we should abolish nuclear power plants. 

         ⇒ In my opinion, we should abolish nuclear power plants. 

 

 



◆ 自由英作文問題の解法（早稲田大学・政経・法・国際教養学部）  

① ほとんどが簡単なテーマなので、自由英作文のフォーマットに従って書ける！  

② 主張・根拠（２～３） ＋ （想定反論） ⇒ 結論  

③ たまに出る「答えにくいテーマ」については、対応策をしっかり持っておく。 

④ 解答時間は約１５分だが、学部によってはそれほど余裕がないケースも。 

 

２０１３年・政治経済学部のテーマ：“The automobile is the most important invention of modern times.” 

 

 

Read the statement below and write a paragraph giving at least two reasons why you agree or disagree with it. Write 

your answer in English in the space provided on your written answer sheet. (It is suggested that you spend no more 

than 15 minutes on this section.) 

“The automobile is the most important invention of modern times.” 

 <2013 早稲田大学・政治経済> 



＜設計図＞ 

□ My Opinion：反対： 自動車は現代で最も重要な発明ではない。 

□ 理由： ① 自動車より重要な発明があるから。 ② 自動車にはマイナス面もあるから。 

 ⇒ この２つの理由だと、①で自動車より何故重要かを述べることになるが、論の展開が難しい（幼稚になる）。 

□ 条件設定： 理由ではなく、「条件」を自ら設定する：「現代で最も重要な発明」に必要なものは何か？ 

 ① 我々現代人にとって不可欠（essential）なものでなければならない。 

   ② 他のテクノロジーにとって不可欠（essential）なものでなければならない。 

 ③ マイナス要因がゼロ、または小さいものでなければならない。 

□ 自動車＝No.1 論を上記３つの条件にそぐわないものとして論破する。 

   ① 車がなくても他の移動手段は存在する点。 

   ② 車がなくても他のテクノロジーが機能不全することはない点。 

   ③ 排気ガス・交通事故などのマイナス面を無視できない点。 

□ 代案＝インターネットなど ⇒ 上記①～③の条件を満たすものとして挙げる。 

□ 結論：自動車は現代最大の発明ではない。 



□ 意見表明 

1. I don’t agree with the statement (that the automobile is the most important invention of modern 

times) for three reasons. 

 

 

□ 条件設定①：「現代最大の発明と呼ぶべきもの」＝「不可欠なもの」 ⇒ 否定 ⇒ 代案 

2. First, what we ought to call the most important invention of human beings should be what we 

cannot do without. 

3. We can live without automobiles, so we cannot say the automobile is the most important invention of 

modern times.  

4. Instead, it can be said that the Internet is the most important because it is essential for our daily lives. 

 

 

 



□ 条件設定②：「現代最大の発明と呼ぶべきもの」＝「他の発明品にとって不可欠なもの」 ⇒ 否定 ⇒ 代案 

5. Second, the most important invention should be what many other things could not function whthout 

(dispense with). 

6. It is true that there would be something which won’t work without automobiles, but in that case, most 

of us would find another way to transport people and luggage. 

7. How about the Internet? If it were not for the Internet, we could not use e-mail and get necessary 

information from websites, and there would be many people who couldn’t complete their work. 

 

□ 条件設定③：「現代最大の発明と呼ぶべきもの」＝「害のないもの」 

8. Third, the most important invention should not cause serious damage or trouble. 

9. Cars emit a lot of harmful gases, and there are many who are killed in car accidents. 

 

□ 結論 

10. Therefore, the automobile is not the most important invention of modern times. 


